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Directions (1 – 4) : In each of the following

questions, select the related letter/word/

number from the given alternatives.

funsZ'k (1 & 4) % fuEu izR;sd iz'u esa fn, x, fodYiksa esa ls
lEcfU/r v{kj@'kCn@la[;k dks pqfu,A
1. Heart : 32 : : Kidney : ?

(A) 38 (B) 42

(C) 28 (D) 36

2. 256 : 900 : : 248 : ?

(A) 1024 (B) 868

(C) 872 (D) 1056

3. BEAR : DIES : : QIEK : ?

(A) TOIL (B) SHIM

(C) SOIL (D) TRIM

4. BARFI : SWEET : : FIG : ?

ciQhZ % feBkbZ % % vathj % \

(A) Vegetable/lCth
(B) Fruit/iQy
(C) Figure/vkd`fr

(D) Language/Hkk"kk
Directions (5 – 8) : Find the odd word/letters/

number pair/number from the given

alternatives.

funsZ'k (5 & 8)% fn;s x, fodYiksa esa ls fo"ke 'kCn@v{kj@la[;k
;qXe@la[;k dks pqfu,A
5. (A) (B)

(C) (D)

6. (A) 61 (B) 211

(C) 503 (D) 991

7. (A) HAS (B) WAS

(C) IS (D) AM

8. (A) Nalanda/ukyank
(B) Rajgir/jktxhj

(C) Ranchi/jkaph
(D) Patna/iVuk

9. Raju is ninth from the left end and Viju is

12th from the right end in a row of boys. If

there are 5 boys between Raju and Viju, how

many boys are there in the row?

yM+dksa dh fdlh iafDr esa jktw ck,a Nksj ls uosa ij gS rFkk

fotw nk,a Nksj ls ckjgosa ij gSA ;fn jktw rFkk fotw ds chp
5 yM+ds gSa] rks iafDr esa dqy fdrus yM+ds gSa\
(A) 23 (B) 24

(C) 25 (D) 26

10. A man was going with a girl. Somebody

asked his relationship with the girl. He

replied, "My paternal uncle is the paternal

uncle of her paternal uncle." Find out the

relationship between the man and girl.

,d vkneh ,d yM+dh ds lkFk tk jgk FkkA fdlh us yM+dh
ds lkFk mldk lEcU/ iwNkA mlus dgk& esjs pkpk] mlds
pkpk ds pkpk gSaA vkneh rFkk yM+dh ds chp lEcU/ dk
irk yxk,aA
(A) Brother-in-law and sister-in-law/

cznj&bu&ykW rFkk flLVj&bu&ykW

(B) Father and daughter/firk rFkk iq=kh

(C) Brother and sister/HkkbZ vkSj cgu

(D) Maternal uncle and niece/ekek vkSj Hkkath

11. If 5 5 5 5    = 0.2, then 4 4 4 4    = ?

;fn 5 5 5 5    = 0.2, rks 4 4 4 4    = ?

(A) 0.3 (B) 0.25

(C) 0.35 (D) 0.5

12. Arrange the following words as per order in

the dictionary.

fuEufyf[kr 'kCnksa dks vaxzsth 'kCndks'k ds vuqlkj Øe ls
j[ksaA
1. Wound 2. Wrist

3. White 4. World

5. Wolf

(A) 1, 4, 3, 5, 2

(B) 2, 1, 3, 4, 5

(C) 3, 5, 4, 1, 2

(D) 3, 5, 2, 1, 4

13. At what time between 1 and 2 o' clock are

the hands of a clock together?

1 vkSj 2 cts ds chp fdl le; ?kM+h dh nksuksa lqbZ ,d lkFk
gksaxh\

(A)
5

5
11

min past 1/1 ctdj 
5

5
11

 feuV

(B)
2

5
11

min past 1/1 ctdj 
2

5
11

 feuV

(C)
1

5
11

min past 1/1 ctdj 
1

5
11

 feuV

(D)
9

5
11

min past 1/1 ctdj 
9

5
11

 feuV

Part-I : General Intelligence and Reasoning

Hkkx&I : lkekU; cqf¼erk ,oa rdZ'kfDr
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Directions (14-15) : In the following questions,

a series is given with one terms missing.

Choose the correct alternative from the given

ones that will complete the series:

funsZ'k (14-15) % fuEufyf[kr iz'uksa esa] ,d vuqØe fn;k x;k
gS ftlesa ,d in yqIr gSA fn, x, fodYiksa esa ls og lgh
fodYi pqfu, tks vuqØe dks iwjk djsaA
14. 23, 57, 1113, 1719, 2329, ____

(A) 3133 (B) 3337

(C) 3137 (D) 3335

15. 5, 7, 17, 55, 225, ____

(A) 2317 (B) 1131

(C) 2423 (D) 2631

16. From the given options, select the

appropriate option in which number in the

given series is equivalent to the number

series given in the options.

fn, gq, fodYiksa esa ls] ml fodYi dk p;u dhft, ftlesa
nh gqbZ la[;kvksa dk lewg iz'u esa nh gqbZ la[;kvksa ds lewg
ds leku gksA

Given set/la[;k lewg% (3, 15, 43)

(A) (12, 24, 47) (B) (9, 27, 81)

(C) (4, 20, 58) (D) (7, 42, 49)

17. Which one set of letters when sequentially

placed at the gaps in the given letter series

shall complete it?

nh xbZ v{kj&Jà[kyk ds [kkyh LFkkuksa ij Øe ls j[kus ij
fuEufyf[kr esa ls dkSu&lk v{kj&lewg mls iwjk djsxk\
pq _ s _ qr _ p _ r _ pq _ s

(A) rpsqsr (B) rpsqrs

(C) pqqrss (D) rpssqr

Direction (18-20) : In question no 18 to 20,

select the missing number from the give

responses.

funsZ'k (18-20) : iz'u la[;k 18 ls 20 esa] fn, x, fodYiksa
esa lsa foyqIr la[;k pqfu,A

18. 5 12 0

4 2 4

6 7 ?

(A) 6 (B) 18

(C) 20 (D) 9

19. 5 6 3 21

4 7 8 39

6 3 9 57

8 6 ? 38

(A) 2 (B) 3

(C) 4 (D) 5

20.

5 4

109

7 6

307

3

2

23

6

4

?

(A) 150 (B) 180

(C) 200 (D) 175

21. A mother is now three times as old as her

daughter. Five years back, she was four

times as old as her daughter. The present

age (in yrs) of the mother is:

orZeku esa ekrk viuh iq=kh dh vk;q ds rhu xquk ds cjkcj
gSA ik¡p o"kZ iwoZ og viuh iq=kh dh vk;q ds pkj xquk ds
cjkcj FkhA ekrk dh orZeku vk;q (o"kksZa esa) D;k gS\
(A) 60 (B) 15

(C) 45 (D) 30

22. From the given alternative words, select the

words which cannot be formed by using the

letters of the given word.

fn, x, oSdfYid 'kCnksa esa ls] ml 'kCn dk p;u djsa] tks
fn, x, 'kCn ds v{kjksa dk iz;ksx dj ugha cuk, tk ldrs
gSaA
BEHAVIOUR

(A) HOUR (B) BIHAR

(C) HIRE (D) HARARE

23. Find the number of squares in the given

figure.

fn, x, vkd`fr esa oxksZa dh la[;k Kkr djsaA

(A) 30– (B) 30

(C) 35 (D) 35+

24. A word is represented by only one set of

numbers as given in any one of the

alternatives. The sets of numbers given in

the alternatives are represented by two

classes of letters as in two matrices given

below. The columns and rows of Matrix-I are

numbered from 0 to 4 and that of Matrix-II

are numbered from 5 to 9. A letter from

these matrices can be represented first by

its row and next by its column. E.g., ‘B’ can

be represented by 01, 31 etc., and ‘P’ can be

represented by 67, 75 etc. Similarly, you

have to identify the set for the word ‘BIRD’.
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Qoy ,d la[;k&lewg }kjk n'kkZ;k x;k gS] tSlk
fd fodYiksa esa ls fdlh ,d esa fn;k x;k gSA fodYiksa esa fn,
x, la[;k&lewg v{kjksa ds nks oxks± }kjk n'kkZ, x, gSa] tSlk fd
uhps fn, x, nks vkO;wg esa gSA vkO;wg&I ds LraHk vkSj iafDr
dh la[;k 0 ls 4 nh xbZ gS vkSj vkO;wg&II dh 5 ls 9A bu
vkO;wgksa ls ,d v{kj dks igys mldh iafDr vkSj ckn esa LraHk
la[;kvksa }kjk n'kkZ;k tk ldrk gSA mnkgj.k ds fy,] ‘B’ dks
01, 31 vkfn }kjk n'kkZ;k tk ldrk gS rFkk ‘P’ dks 67, 75

vkfn }kjk n'kkZ;k tk ldrk gSA fn;s x, 'kCn ‘BIRD’ ds
fy, lewg dks igpkuuk gSA
  Matrix/vkO;wg-I          Matrix/vkO;wg-II

0 1 2 3 4

0 A B L D E

1 D L B A E

2 B A D L E

3 D B L A E

4 L D A E B

  

5 6 7 8 9

5 P Q R I F

6 Q I P R F

7 P F R I Q

8 Q I P R F

9 F P I Q R

(A) 12, 58, 76, 22

(B) 31, 78, 57, 04

(C) 44, 66, 88, 22

(D) 31, 58, 66, 10

25. If × = –, + = ×, ÷ = + and – = ÷, then find the

value of 12 × 6 + 1 ÷ 4 – 2.

(A) 8 (B) 12

(C) 6 (D) 16
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Part-II : General Awareness

Hkkx&II : lkekU; tkudkjh
26. Who has won the 2017 Qatar Open Men's

singles tennis tournament?

2017 drj vksiu iq:"k ,dy izfr;ksfxrk fdlus thrh gS\
(A) Novak Djokovic/uksokd tksdksfop
(B) Andy Murray/,aMh ejs
(C) Rafael Nadal/jkiQsy uMky
(D) Stefan Edberg/LVhiQu ,McxZ

27. Which of the following kingdoms were

associated with the life of the Buddha?

fuEu esa ls dkSu ls jkT; egkRek cq¼ ds thou ds lkFk tqM+s
gq, Fks\
1. Avanti/voafr
2. Gandhara/xka/kj
3. Kosala/dkslyk
4. Magadha/ex/
Select the correct answer using the code

given below.

izof̀"V;ksa esa ekStwnk dwVksa dk mi;ksx djds lgh mÙkj dk p;u
djsaA
(A) 1, 2 and 3/1, 2 rFkk 3
(B) 2 and 3 only/dsoy 2 rFkk 3
(C) 1, 3 and 4/1, 3 rFkk 4
(D) 3 and 4 only/dsoy 3 rFkk 4

28. Five Year Plan in India is finally approved

by:

Hkkjr esa iapo"khZ; ;kstuk dks vafre Lohdf̀r fdlds }kjk nh
tkrh gS\
(A) Union Cabinet/dsanzh; eaf=keaMy
(B) On the advice of Prime Minister/iz/kuea=kh

dh lykg ij
(C) Planning Commission/;kstuk vk;ksx
(D) National Development Council/jk"Vªh;

fodkl ifj"kn~
29. As per Indian Protocol, who among the

following ranks highest in the order of

precedence?

Hkkjrh; uokpkj (izksVksdkWy) ds vuqlkj] fuEufyf[kr Js.kh esa
fdldk Js"B in gksrk gS\
(A) Deputy Prime Minister/mi&iz/kuea=kh
(B) Indian Army Chief/Hkkjr ds Fkylsukvè;{k
(C) Governor of a State within his State/

muds jkT; ds varxZr jkT; ds jkT;iky
(D) Speaker of the Lok Sabha/yksdlHkk ds vè;{k

30. By which Bill does the Government propose

collection of revenue for a year ?

fdl fcy ds }kjk ljdkj ,d o"kZ ds fy, jktLo ds laxzg
dk izLrko j[krh gS\

(A) Economic Bill/vkfFkZd fcy

(B) Finance Bill/foÙkh; fcy

(C) Supplementary Bill/ifjf'k"V fcy

(D) None of these/buesa ls dksbZ ugha
31. Which one of the following pairs is not

correctly matched?

mijksDr esa ls dkSu&lk@ls ;qXe lgh <ax ls lqesfyr ugha gS\
(A) Jamnalal Bajaj-Satyagraha Ashram at

Wardha/

teukyky ctkt & lR;kxzg vkJe o/kZ esa
(B) Dadabhai Naoroji-Bombay Association/

nknkHkkbZ ukSjksth & cacbZ ,lksfl,'ku
(C) Lala Lajpat Rai-National School at

Lahore/

ykyk yktir jk;&jk"Vªh; Ldwy ykgkSj esa
(D) Bal Gangadhar Tilak-Satya Shodhak

Sabha/

cky xaxk/j fryd & lR; 'kks/d lHkk
32. What is the theme of the 2017 New Delhi

World Book Fair (NDWBF)?

ubZ fnYyh fo'o iqLrd esyk (NDWBF), 2017 dk Fkhe
(fo"k;) D;k gS\
(A) Vivid Bharat - Diverse India/

fofon Hkkjr & fMolZ bafM;k
(B) Manushi - Books Written on and by

Women/ekuq"kh & cqd fjVsu vkWu ,aM ckb oqesu
(C) Kathasagara: Celebrating Children's

Literature/dFkklkxj% lsysczsfVax fpYMªu fyVjpj
(D) Suryodaya: Emerging voices from North

East India/lw;ksZn;% beftZax okWbl ÚkWe ukWFkZ bZLV
bafM;k

33. Who has been honoured with the Life Time

Achievement (LTA) award for 2017 Jaipur

at the International Film Festival (JIFF)?

t;iqj baVjus'kuy fiQYe izfr;ksfxrk esa fdUgsa 2017 ds fy,
ykbiQ Vkbe vphoesaV iqjLdkj ls lEekfur fd;k x;k gS\
(A) Om Puri/vkse iqjh
(B) Amitabh Bachchan/vferkHk cPpu
(C) Nasruddin Shah/ul:íhu 'kkg
(D) Ramesh Prasad/jes'k izlkn
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34. The Government enacted the "Panchayat
Extension to Scheduled Areas (PESA) Act in
1996". Which one of the following is not
identified as its objective?

Hkkjr ljdkj ds vf/fu;fer ¶iapk;r vuqlwfpr {ks=kksa ds
fy, foLrkj vf/fu;e 1996¸] fuEu esa ls dkSu&ls mís';
ds :i esa fu/kZfjr ugha gS\
(A) To provide self-governance/

Lok;Ùk'kklu iznku djus ds fy,
(B) To recognize traditional rights/

ijaijkxr vf/dkjksa dks igpku djus ds fy,
(C) To create autonomous regions in tribal

areas/vkfnoklh {ks=kksa esa Lok;Ùk {ks=k cukus ds fy,
(D) To free tribal people from exploitation/

'kks"k.k ls tutkrh; yksxksa dks eqDr djus
35. The atmosphere is heated mainly by

ok;qeaMy fdlds }kjk eq[; :i ls xeZ gksrk gS \
(A) Insolation/vkriu
(B) Conduction/pkyu
(C) Radiation/fofdj.k
(D) Convection/laogu

36. "OECD" stands for-

"OECD" dk |ksrd :i gS&
(A) Organization for Economic Cooperation

and Development
(B) Opportunity for Economic Cooperation

and Development
(C) Organization for Economic Conference

and Development
(D) Organization for Environmental

Cooperation and Development
37. Consider the following:

fuEufyf[kr dks è;ku esa j[krs gq,%
The arrival of Babur into India led to the

ckcj ds Hkkjr vkxeu ij usr`Ro fd;k Fkk
1. Introduction of gunpowder in the

subcontinent/miegk}hi esa ck:n ds mi;ksx dh
'kq:vkr

2. Introduction of the arch and dome in

the region's architecture/bu {k s=k dh
okLrqdyk esa esgjkc vkSj xqacn dh 'kq:vkr

3. Establishment of Timurid dynasty in

the region/{ks=k esa freqfjM jktoa'k dh LFkkiuk
Select the correct answer using the code

given below.

izof̀"V;ksa esa ekStwnk dwVksa dk mi;ksx djds lgh mÙkj dk p;u
djsaA
(A) 1 and 2 only/dsoy 1 rFkk 2
(B) 3 only/dsoy 3

(C) 1 and 3 only/dsoy 1 rFkk 3
(D) 1, 2 and 3/1, 2 rFkk 3

38. Which of the following alkali metals has

highest specific heat ?

fuEufyf[kr {kkj /krqvksa esa ls fdldh fof'k"V mQ"ek lcls
vf/d gS \
(A) Caesium/lhft;e
(B) Rubidium/:fcMh;e
(C) Potassium/iksVkf'k;e
(D) Lithium/fyfFk;e

39. What is the average distance (approximate)
between the sun and the earth?
lw;Z vkSj ìFoh ds chp dh vkSlr nwjh (vuqekfur) D;k gS\
(A) 70 × 105 km/fdeh-
(B) 100 × 105 km/fdeh-
(C) 110 × 106 km/fdeh-
(D) 150 × 106 km/fdeh-

40. When the Reserve Bank of India announces
an increase of the Cash Reserve Rate, what
does it mean?
tc Hkkjrh; fjtoZ cSad vkjf{kr udnh fuf/ ij of̀¼ dh
?kks"k.kk djrk gS] rks bldk eryc D;k gksxk\
(A) The commercial banks will have less

money to lend/okf.kfT;d cSadks dks m/kj nsus ds
fy, de iSlk gksxk

(B) The Reserve Bank of India will have
less money to lend/Hkkjrh; fjtoZ cSad m/kj ds
fy, de iSlk nsxk

(C) The Union Government will have less
money to lend/dsanz ljdkj dks m/kj nsus ds fy,
de iSlk djuk

(D) The commercial banks will have more
money to lend/okf.kfT;d cSadks dks m/kj nsus ds
fy, vksj vf/d gksxk

41. The chemical substance present in bones
and teeth is:
vfLF;ksa vkSj nkarksa esa mifLFkr jklk;fud inkFkZ gS&
(A) Ca

3
(PO

4
)
2

(B) CaF
2

(C) Ca
3
(BO

3
)
2

(D) Ca(NO
3
)
2

42. Match List-I with List-II and select the
correct answer using the codes given the
lists.
lwph-I dks lwph-II ls lqesfyr dj uhps fn, x, lwfp;ksa ds
izof̀"V;ksa esa ekStwnk dwVksa dk mi;ksx djds lgh mÙkj dk p;u
djsaA

List-I/lwph-I List-II/lwph-II
Sea/lkxj Country/ns'k

a. Black Sea/dkyk lkxj 1. Bulgaria/cqYxkfj;k
b. Red Sea/yky lkxj 2. China/phu
c. Yellow Sea/ 3. Eritrea/bfjf=k;k

ihyk lkxj
d. Caspian Sea/ 4. Kazakhstan/

dSfLi;u lkxj dtkf[kLrku
Codes/dwV %

a b c d
(A) 1 4 2 3
(B) 2 3 1 4
(C) 1 3 2 4
(D) 2 4 1 3
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43. During washing of clothes, we use indigo

due to its

diM+ksa ds /qykbZ ds le; uhy ds iz;ksx dk D;k dkj.k gS \

(A) Better cleaning action/csgrj liQkbZ izfØ;k

(B) Proper pigment composition/mfpr o.kZd

jpuk

(C) High glorious nature/mPp Js"B izÑfr

(D) Very low cost/cgqr de ykxr ewY;
44. Alluvial soils are rich soil for crop cultivation

but are poor in:

tyks<+ feV~Vh iQly mRiknu dh n`f"V ls lè¼ gS ijUrq blesa

fdldk vHkko gS\

(A) Humus/áwel

(B) Nitrogen and humus/ukbVªkstu vkSj áwel

(C) Organic material/tSfod inkFkZ

(D) Inorganic material/vtSfod inkFkZ
45. Seeds are not enclosed in fruits in

fdl izdkj ds iQyksa esa cht iQyksa esa lekoÙ̀k ugha gksrs gS \

(A) Monocotyledons/eksuksdksfVysMu~l

(B) Gymnosperms/ftEuksLieZ

(C) Angiosperms/,aft;kstLieZ

(D) Dicotyledons/fMdksVkbysMu~l
46. The Constitution of India recognises:

Hkkjr dk lafo/ku ekU;rk nsrk gS&
(A) Only religious minorities/

dsoy /kfeZd vYila[;dksa dks
(B) Only linguistic minorities/

dsoy Hkk"kkbZ vYila[;dksa dks
(C) Religious and linguistic minorities/

/kfeZd vkSj Hkk"kkbZ vYila[;dksa
(D) Religious, linguistic and ethnic

minorities//kfeZd] Hkk"kkbZ vkSj tkrh; vYila[;dksa

47. Who is hailed as the “God of Medicine” by
the practitioners of Ayurveda ?

vk;qosZn ds fpfdRldksa }kjk fdls ̂ vkS"kf/ dk nsork* dgk x;k
gS \
(A) Susruta/lqJqr
(B) Chyavana/P;ou
(C) Dhanwantari//uoUrfj
(D) Charaka/pjd

48. Who has been sworn-in as the new Chief
Justice of India (CJI)?

Hkkjr ds u, eq[; U;k;k/h'k ds :i esa fdUgksaus 'kiFk yh gS\
(A) J S Khehar/ts ,l [ksgj
(B) Madan Lokur/enu yksdqj
(C) Kamlesh Khehar/deys'k [ksgj
(D) T S Patil/Vh ,l ikfVy

49. Two lowest layer of atmosphere is known
as:

okrkoj.k dh lcls fupyh ijr dks fdl :i esa tkuk tkrk
gS\
(A) Troposphere/{kksHkeaMy
(B) Stratosphere/lerkieaMy
(C) Ionosphere/vk;ueaMy
(D) Ozonosphere/vkstksueaMy

50. At which one of the following positions
shown in the diagram will the height of the
ocean tide be maximum?

fuEufyf[kr esa ls ftl fLFkfr esa vkjs[k esa fn[kk;k x;k gSA
fdl esa lkxj Tokj&HkkVk dh vf/dre Å¡pkbZ gksxh\

Sun
lw;Z

M1

E

M
oo

n's 
O

rb
it

pUn
zek 

dh
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{kk

Earth
's 

Orb
it

iF̀o
h d

h d
{kk

M2

M3

M4

(A) M
1

(B) M
2

(C) M
3

(D) M
4
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Part-III : Quantitative Aptitude

Hkkx&III : ek=kkRed vfHk{kerk
51. Solve and find the unit digit in (544)102 +

(544)103.

(544)102 + (544)103 dks gy djsa rFkk bdkbZ vad fudkysaA
(A) 2 (B) 4
(C) 0 (D) 1

52. A lent ̀  5000 to B for 2 years and ̀  3000 to C
for 4 years on simple interest at the same
rate of interest and received a total of ̀  2200
from both of them as interest. The rate of
interest per annum is:

A us B dks lk/kj.k C;kt ls 2 o"kZ ds fy, ̀  5000 rFkk
C dks 4 o"kZ ds fy, ̀  3000, leku nj ls m/kj fn;k rFkk
nksuksa ls C;kt ds :i esa ̀  2200 ik;kA izfro"kZ C;kt nj D;k
gS\
(A) 9% (B) 10%
(C) 11% (D) 12%

53. A train covers a certain distance in 50
minutes, if it runs at a speed of 48 km/h on
an average. Find the speed at which the
train must run to reduce the time of journey
to 40 minutes.

,d Vªsu 50 feuV esa dksbZ nwjh r; djrh gS] ;fn og
48 fdeh- izfr ?k.Vs dh vkSlru pky ls pyrh gSA Vªsu dh
ml pky dks fudkysa] ftlls ;k=kk 40 feuV ds le; esa iwjh
gks tkuh pkfg,\
(A) 50 km/hr/fdeh@?k.Vs
(B) 60 km/hr/fdeh@?k.Vs
(C) 65 km/hr/fdeh@?k.Vs
(D) 70 km/hr/fdeh@?k.Vs

54. If a = 35, b = 18, c = – 41, then the value of

3 3 3

2 2 2

– 3

( – ) ( – ) ( – )

a b c abc

a b b c c a

 

 
 is

;fn a = 35, b = 18, c = – 41 gks] rks
3 3 3

2 2 2

– 3

( – ) ( – ) ( – )

a b c abc

a b b c c a

 

 
 dk eku gS&

(A) – 12 (B) – 6
(C) 12 (D) 6

55. The sum of the present ages of father and
his son is 60 years. Six years ago, father's
age was five times the age of the son. After
6 years, son's age will be:

firk rFkk iq=k ds orZeku vk;q dk ;ksx 60 o"kZ gSA 6 o"kZ iwoZ]
firk dh vk;q iq=k dh vk;q dk 5 xquk FkkA 6 o"kZ i'pkr~]
iq=k dh vk;q gksxh&
(A) 15 years/o"kZ (B) 18 years/o"kZ
(C) 20 years/o"kZ (D) 22 years/o"kZ

56. In an examination, 34% of the students
failed in mathematics and 42% failed in
English. If 20% of the students failed in both
the subjects, then find the percentage of
students who passed in both the subjects.

fdlh ijh{kk esa] 34% Nk=k xf.kr esa vliQy gq, rFkk
42% vaxzsth esaA ;fn 20% Nk=k nksuksa fo"k;ksa esa vliQy
gq,] rks mu Nk=kksa dk izfr'kr fudkysa] tks nksuksa fo"k;ksa esa
liQy gq,A
(A) 40% (B) 42%
(C) 44% (D) 46%

57. How many terms are there in the series
2, 4, 8, 16, ...., 1024.

Jà[kyk 2, 4, 8, 16, ...., 1024 esa fdrus in gS\
(A) 7 (B) 8
(C) 9 (D) 10

58. If 
2

2 2

cos

cot – cos



 
 = 

1

3
 and 0° <  < 90°, then

the value of  is:

;fn 
2

2 2

cos

cot – cos



 
 = 

1

3
 rFkk 0° <  < 90° gS] rks

 dk eku gS&
(A) 30° (B) 45°

(C) 60° (D) 90°
59. The length of a rectangle is three times of

its width. If the length of the diagonal is

8 10 cm, then find the perimeter of the

rectangle.

fdlh vk;r dk yEckbZ mldh pkSM+kbZ dk rhu xquk gSA ;fn

d.kZ dh yEckbZ 8 10 lseh- gS] rks vk;r dk ifjeki
fudkysaA
(A) 60 cm/lseh- (B) 62 cm/lseh-
(C) 64 cm/lseh- (D) 66 cm/lseh-

60. Two trains are running at 40 km/hr and
20 km/hr respectively in the same
direction. Fast moving train completely
passes a man sitting in the slow moving
train in 5 seconds. What is the length of
the fast train?

nks Vªsu ,d gh fn'kk esa Øe'k% 40 fdeh@?k.Vk rFkk
20 fdeh@?k.Vk dh pky ls tk jgh gSA /heh xfr okyh Vªsu
esa cSBs gq, ,d O;fDr dks rst xfr okyh Vªsu 5 lsd.M esa
iwjh rjg ikj dj ysrh gSA rst xfr okyh Vªsu dh yEckbZ D;k
gS\

(A)
7

27
9

(B)
7

28
9

(C)
7

29
9

(D)
7

30
9
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61. ABC ~ PQR in which AB = 6 cm, BC = 4 cm,
CA = 8 cm and PQ = 8 cm, then perimeter of
PQR is

ABC ~ PQR gS] ftlesa AB = 6 lseh-] BC = 4 lseh]
CA = 8 lseh- rFkk PQ = 8 lseh- gks] rks PQR dk
ifjeki gS&
(A) 30 cm/lseh- (B) 36 cm/lseh-
(C) 42 cm/lseh- (D) 24 cm/lseh-

62. A shopkeeper fixes the marked price of an
item to 35% above its cost price. The
percentage of discount allowed to gain 8%
wiil be:

,d nqdkunkj us vafdr ewY; dks Ø; ewY; ls 35% vf/d
ij fuf'pr fd;kA 8% ykHk dekus ds fy, fdrus izfr'kr
dh NwV nsuh gksxh\
(A) 18% (B) 20%

(C) 22% (D) 24%

63. Find the compound interest on ` 16,000 at
20% per annum for 9 months, compounded
quarterly.

` 16000 ij 20% nj ls frekgh pØo`f¼ C;kt ij
9 eghuksa dk pØo`f¼ C;kt fudkysaA
(A) ` 2520 (B) ` 2521

(C) ` 2522 (D) ` 2523

64. If A : B : C = 2 : 3 : 4, then find the value of

A B C
: :

B C A
.

;fn A : B : C = 2 : 3 : 4, rks 
A B C

: :
B C A

 dk eku fudkysaA

(A) 5 : 9 : 24 (B) 2 : 3 : 8
(C) 7 : 9 : 24 (D) 8 : 9 : 24

65. A tyre has two punctures. The first puncture
alone would have made the tyre flat in
9 minutes and the second alone would have
done it in 6 minutes. If air leaks out at a
constant rate, then how long does it take
both the punctures together to make it flat.

fdlh Vk;j esa 2 iaDpj gSA igys iaDpj us Vk;j dks 9 feuV
esa ÝySV cuk fn;k gksrk rFkk nwljs us ;s 6 feuV esa fd;k gksrkA
;fn gok fdlh fLFkj nj ls ckgj fudyrh gks] rks nksuksa iaDpjksa
}kjk ,d lkFk bUgsa ÝySV djus esa fdruk le; yxrk gS\

(A)
1

3
5

 min/feuV (B)
2

3
5

 min/feuV

(C)
3

3
5

 min/feuV (D)
4

3
5

 min/feuV

66. Find the HCF of
22 × 32 × 72, 2 × 34 × 72 × 32 × 72, 2 × 34 × 7.

22 × 32 × 72, 2 × 34 × 72 × 32 × 72, 2 × 34 × 7 dk
e-l- Kkr djsaA
(A) 128 (B) 126
(C) 146 (D) 434

67. In a hostel, food was available for 2000

students for 54 days, but after 15 days some

more students joined hostel and food lasts

only for 20 more days. Determine how many

students came in hostel?

fdlh gkWLVy esa] Hkkstu 2000 Nk=kksa dk 54 fnuksa ds fy,
ekStwn Fkk] fdUrq 15 fnuksa ds i'pkr~] dqN vfrfjDr Nk=k
gkWLVy esa lfEefyr gq, rFkk Hkkstu vkSj 20 fnuksa rd gh
py ik;kA irk yxk,a fd gkWLVy esa fdrus Nk=k vk, Fks\
(A) 1650 (B) 1700

(C) 1900 (D) 2100

68. A and B started a partnership business by

investing some amount in the ratio of 3 : 5.

C joined them after six months with an

amount equal to that of B. In what proportion

should the profit be distributed among A, B

and C at the end of one year?

A rFkk B us 3 : 5 ds vuqikr esa dqN jkf'k yxkdj
ikVZujf'ki esa fuos'k fd;kA C N% eghus ckn] B ds leku
jkf'k ls lfEefyr gqvkA ,d o"kZ efgyk A, B rFkk esa ykHk
dks fdl vuqikr esa ckaVk tkuk pkfg,\
(A) 3 : 7 : 5 (B) 6 : 10 : 5

(C) 6 : 10 : 7 (D) 6 : 7 : 5

69. Due to 30% increase in the price of eggs, a

person gets 3 eggs less for ` 7.80. Find the

present rate of eggs per dozen.

vaMksa dh dher esa] 30% c<+ksrjh gksus ds dkj.k ` 7.80

esa 3 vaMs de feyrs gSA vaMs dk izfr ntZu orZeku ewY; D;k
gS\
(A) ` 9.36 (B) ` 10.36

(C) ` 11.36 (D) ` 12.36

70. The least whole number, when subtracted

from both the terms in the ratio of 6 : 7 to

give a ratio less than 16 : 21 is:

6 : 7 vuqikr ds nksuksa inksa esa ls fdl iw.kZ la[;k dks ?kVk;k
tk, rkfd ;g 16 : 21 ds vuqikr ls de gks\
(A) 3 (B) 4

(C) 5 (D) 6

71. Simplify b – [b – (a + b) – {b – (b – a + b)} + 2a].

b – [b – (a + b) – {b – (b – a + b)} + 2a] dks ljy djsaA
(A) a (B) 2a

(C) 4a (D) 0

72. The average age of husband, wife and their

son, 3 years ago was 27 years and that of

wife and the son, 5 years ago was 20 years.

The present age of the husband is:

3 o"kZ iwoZ ifr] iRuh rFkk muds iq=k dh vkSlr vk;q 27 o"kZ
Fkh rFkk 5 o"kZ iwoZ] iRuh rFkk iq=k dh 20 o"kZ FkhA ifr dh
orZeku vk;q D;k gS\
(A) 40 (B) 35

(C) 45 (D) 55
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73. P and Q are two points observed from the top

of a building 20 3  m high. If the angles of

depression of the points are complementary

and PQ = 10 m, then the distance of P from

the building is

20 3  ehVj Å¡ps ,d edku ls nks fcUnq P vkSj Q dk

voueu dks.k ,d&nwljs dk vuqiwjd gSA ;fn PQ = 10 eh-
gS] rks edku ls P dh nwjh gS&
(A) 20 m/eh- (B) 30 m/eh-
(C) 25 m/eh- (D) 35 m/eh-

Directions (74-75): Study the following graph

carefully and answer these questions:

funsZ'k (74-75) : vkjs[k dk è;kuiwoZd vè;;u djsa vkSj iz'uksa
ds mÙkj nsaA

Hindu/

48%

fgUnq

Jain/

7%

tSu

Muslim/

20%

eqfLye

Pars
i/

5%

ikjl
h 

Christian/12%

bZlkbZ 

Sikhs/

8%

fl[k

Details of People in a city

'kgj ds yksxksa dk C;kSjk

Details of Male and Female 
in city (in percentage)

'kgj ds iq:"k rFkk efgyk dk 

C;kSjk (izfr'kr esa)

60%

40%

Male Female
iq:"k efgyk

20%

74. If population of Hindus in a city is 6.15 lakhs

more than Jains, then what is the

population of the city?

;fn 'kgj ds fgUnqvksa dh tula[;k tSuksa ls 6.15 yk[k
vf/d gS] rks 'kgj dh dqy tula[;k D;k gS\
(A) 36 lakhs/yk[k
(B) 30 lakhs/yk[k
(C) 15 lakhs/yk[k
(D) 45 lakhs/yk[k

75. What is the percentage of Hindu females

in the city?

'kgj esa fdrus izfr'kr fgUnq efgyk,a gS\
(A) 18.6% (B) 20.4%

(C) 16.8% (D) 19.2%
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Part - IV (English Language)

Direction : In Question nos. 76 to 78 some part

of the sentences have errors and some are

correct. Find out which part of a sentence has

an error and blacken the oval [ ]

corresponding to the appropriate letter (A), (B),

(C). If a sentence is free from error, blacken the

oval corresponding to (D) in the Answer Sheet.

76. There is a shortage (A)/ for qualified staff

(B)/ in many software companies in India.

(C)/ No error (D)

77. He was not a good manager (A)/ because he

did not know (B)/ what to react in a crisis.

(C)/ No error (D)

78. Mr Bajaj has resigned (A)/ from the post of

Director (B)/ which he holds for over ten

years. (C)/ No error (D)

Directions : In Question nos. 79 to 81,

sentences given with blanks to be filled in with

an appropriate word(s). Four alternatives are

suggested for each question. Choose the correct

alternative out of the four and indicate it by

blackening the appropriate oval [ ] in the

Answer Sheet.

79. None of ______ so intelligent that we can

learn the whole dictionary in one week.

(A) we, are (B) us, are

(C) we, is (D) us, is

80. There _____ to sell but government has not

fixed the minimum rate of sugar cane yet.

(A) are heaps (B) is heaps

(C) are heap (D) is heap

81. More than one _______ given to Mini on her

birthday.

(A) dolls is (B) dolls are

(C) doll are (D) doll is

Directions : In question nos. 82 to 83, out  of

the four alternatives, choose the one which best

expresses the meaning of the given word.

82. LOATHE

(A) Slow (B) Detest

(C) Soaked (D) Heavy

83. EPITOME

(A) Postscript (B) Compendium

(C) Inscription (D) Byname

Directions : In question nos. 84 to 85, choose

the word opposite in meaning to the given word.

84. CAPTIVATE

(A) Enchant (B) Coax

(C) Liberate (D) Disjunction

85. BLANDISH

(A) Wheedle (B) Cajole

(C) Discourage (D) Entice

Directions : In question nos. 86, four words are

given in each question, out of which only one

word is spelt correctly/wrongly out of them.

Find the word spelt correct/wrong and mark

your answer in the Answer Sheet.

86. (A) Puissant (B) Puissent

(C) Puiscent (D) Puissent

Direction : In Question nos. 87 to 89, four

alternative are given for the Idiom/Phrase in

bold in below sentences. Choose the

alternative which best expresses the meaning

of the Idiom/Phrase and mark it in the Answer

Sheet.

87. Rule of the thumb

(A) anarchy

(B) democracy

(C) a rough, practical method

(D) monarchy

88. To tempt providence

(A) to cheat some one

(B) to commence serious work

(C) to do something dangerous

(D) to discuss some matter

89. In a jiffy

(A) happening very slowly

(B) in a long duration

(C) in a moment

(D) in a difficult situation

Direction: In Question nos. 90 to 92, a

sentence/ a part of the sentence is italicised

in underlined. Below are given alternatives to

the italicised part at (A), (B), (C) which may

improve the sentence. Choose the correct

alternative. In case no improvement is needed

your answer is (D). Mark your answer in the

Answer Sheet.

90. Some was frightening to go in the house

because they heard very horrible scream

coming out from the house.

(A) Some was fright

(B) Some were frightened

(C) Some was frighten

(D) No improvement

91. None have their bounty for his courageous

work.

(A) has their (B) have his

(C) has his (D) No improvement
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92. My uncle is appointed presently in Allahabad.
(A) appointed present
(B) present appoint
(C) presently appointed
(D) No improvement

Direction : In Question nos. 93 to 95, in the
following question, out of the four alternatives,
choose the one which can be substituted for
the given sentence.
93. A thing or act which is based on law

(A) Accomplished (B) Legal
(C) Accountant (D) Confluence

94. That which can be read easily
(A) Rostrum (B) Legible
(C) Uprightness (D) Armament

95. One who expresses one's opinion firmly but
politely
(A) Assertive (B) Sanatorium
(C) Reconcile (D) Mountebank

Direction (Q. No- 96 - 100) : In these question
you have two brief passages with six questions
following the passage. Read the passage
carefully and choose the best answer to each
question out of the four alternatives.

Passage – 1
In the world today we make health an end in

itself. We have forgotten that health really means

to enable a person to do his work and do it well. A

lot of modern medicine, and this includes many

patients as well as many physicians, pay very

little attention to health but very much attention

to those who imagine they are ill. Our great

concern with health is shown by the medical

columns in newspapers, the health articles in

popular magazines and the popularity of

television programmes and all those books on

medicine. We talk about health all the time. Yet

for the most part the only result is more people

with imaginary illness. A healthy man should not

be wasting time talking about health; he should

be using  health for work.

96. Modern medicine is primarily concerned
with
(A) promotion of good health
(B) people suffering from imaginary illness
(C) people suffering from real illness
(D) increased efficiency in work

97. The passage suggests that
(A) health is an end in itself
(B) health is a blessing
(C) health is only a means to an end
(D) we should not talk about health

98. Talking about health all the time makes
people
(A) always suffer from imaginary illness

(B) sometimes suffer from imaginary

illness

(C) rarely suffer from imaginary illness

(D) often suffer from imaginary illness

99. The passage tells us

(A) how medicine should be manufactured

(B) what a healthy man should or should

not do

(C) what television programmes should be

about

(D) how best to imagine illness

100. A healthy man should be concerned with

(A) his work which good health makes

possible

(B) looking after his health

(C) his health which makes work possible

(D) talking about health
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